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2A:

HE: HAU 25 S4
el HAHAIE 2RI (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 221,3%4
307 212+01™ 243,3%4 224,032 19,362
T 22,000
Al 221,3%4
02 QIZHA A AL E & 243,394 224,032 19,362
OFLEAESIHEH 29 X3 243,394
= 22,000
Al 221,394
HAE HESMNEH 2 216, 151 202,8%6 13,255
| 83,140
= 24,942
Al 108,069
307 QIZ2t01 A 216, 151 202,8%6 13,255
| 83,140
T 24,942
Al 108,069
02 QIZHA A AL E & 216, 151 202,8%6 13,255
OFLYE HE23HH 29 216, 151
| 83,140
& 24,942
Al 108,069
HoUEElH 23KX2 1,005,368 905,413 189,955
| 410,385
& 123,116
Al 561,867
307 212+01™ 1,095,368 905,413 189,955
| 410,385
& 123,116
Al 561,867
02 QIZHBAAIE E R 1,005,368 905,413 189,955
O&dAHEH 29 1,005,368
J| 410,385
= 123,116
Al 561,867
OIS - AAE 4 QFN= 20,000 20,000 0
= 10,000
Al 10,000
307 212+01™ 20,000 20,000 0
= 10,000
Al 10,000
02 QIZHAAAIHE X 20,000 20,000 0
OXOOts - HAE 4 2AHWS 20,000
= 10,000
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el 3AEAE 2ERE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 10,000
STE0SSUOILE 23 AMlg2elsH dEs 169,903 224,949 55,046
300 &HES 169,903 179,949 10,046
01 SAL- SHEYEES 169,903 179,949 210,046
O=ZE0I=2UOHIHE 2 Alg2elsH
dE= 169,903
HAEEE SAL SES(SA MRHAH]) 33,480 33,840 2360
= 8,730
Al 24,750
307 el2to| & 33,480 33,840 360
= 8,730
Al 24,750
02 QI AAEE X 33,480 33,840 A360
OFAHEH SAA S8 33,480
== 8,730
Al 24,750
FAEAE HA 1,171,000 1,570,000 399,000
S 861,000
Al 310,000
HAEANE BSA(AEAIY) 600,000 600,000 0
= 300,000
Al 300,000
401 AIEHIX R0 600,000 600,000 0
= 300,000
Al 300,000
01 AlZ2H| 600,000 600,000 0
OF2HEAL E+3A 600,000
== 300,000
Al 300,000
FAHAIE EHl |2l 10,000 10,000 0
405 AHaHE = 10,000 10,000
01 AL =S F=HI 10,000 10,000
OFAEAE EHl FA2c 10,000
FAESEAE JISEZ(E 00 30,000 0 30,000
= 30,000
401 Al HIZL 201 30,000 0 30,000
= 30,000
01 AlZ2H| 30,000 0 30,000
OZUOISEHAESEUH BoAANL 2|22
2 SAM 30,000
[ 30,000
52 FAEMH A (HEAY) 531,000 960,000 429,000
s 531,000
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Bl FAEAE e (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 531,000 960,000 A429,000
= 531,000
01 AlZ8| 531,000 958,980 A427,980
OgRd FAEdH A 531,000
< 531,000
HY2IHH(FEEA) 48,672 0 48,672
JlE2ZsI(8EEA) 48,672 0 48,672
JlEZe(FEE ) 48,672 0 48,672
201 er2 3| 28,224 0 28,224
01 At2tltl 28,224 0 28,224
oget=ZH| 14,400
o=gH| 13,824
202 04| 16,848 0 16,848
01 2LHA LI 16,848 0 16,848
OJ|28 R0 16,848
203 gF=4| 3,600 0 3,600
M EASHLRFAH 3,600 0 3,600
OR NSRRI 300,000 * 122 3,600




